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Multiply by powers of ten (missing number)

Name:

9411 x

9.671 x

6.256 X

4.168 x

9.518 x

5.962 x

1.488 x

7.978

6.622 %

5.678 x

=9041.1

=967.1

= 62.56

=4168

=95.18

=59.62

= 148.8

=7978

= 66.22

= 5678

1.759 x

4.653 x

1.502 x

9.088 x

2.258 %

3.918 x

7.067

3.895 x

2.252 %

3.372 x
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Date:

=175.9

=465.3

= 1502

=908.8

=225.8

=391.8

=70.67

= 38.95

=225.2

=33.72

Score:



https://www.snowmath.com

AR

Multiply by powers of ten (missing number)

Name: Date: Score:

9.411 x 100 = 941.1

9.671 x 100 = 967.1

6.256 x 10 = 62.56

4.168 x 1000 = 4168

9.518 x 10 = 95.18

5.962 x 10 = 59.62

1.488 x 100 = 148.8

7.978 x 1000 = 7978

6.622 x 10 = 66.22

5.678 x 1000 = 5678

1.759 x 100 = 175.9

4.653 x 100 = 465.3

1.502 x 1000 = 1502

9.088 x 100 = 908.8

2.258 x 100 = 225.8

3918 x 100 = 391.8

7.067 x 10 = 70.67

3.895 x 10 = 38.95

2.252 x 100 = 225.2

3.372 x 10 = 33.72
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